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15.3 Zdania i pytania – klucz 
 

Uwaga: Poniższe angielskie zdania nie zawsze są jedynymi możliwymi tłumaczeniami polskich zdań z ćwiczeń. W nawiasach 
umieściliśmy alternatywne słowa lub amerykańskie odpowiedniki brytyjskich słów.   

 
Ćwiczenie 1/1 

zdania pytania odpowiedzi 

1. Mark is going to 
buy himself a scooter 
when he gets a bank 
loan. 

1a. Who is going to buy a scooter 
when he gets a bank loan? 

1aa. Mark. 

1b. What is Mark going to buy when 
he gets a bank loan? 

1bb. A scooter. 

1c. What is Mark going to do when he 
gets a bank loan? 

1cc. (To) buy himself 
a scooter. 

1d. When is Mark going to buy himself 
a scooter? 

1dd. When he gets  
a bank loan. 

1e. Is Mark going to buy himself  
a scooter when he gets a bank loan? 

1ee. Yes, he is. 

2. Jola doesn’t have 
to wash the dishes 
because she’s got  
a dishwasher. 
 
 
 

2a. Who doesn’t have to wash  
the dishes? 

2aa. Jola. 

2b. What doesn’t Jola have to do? 
 

2bb. Wash  
the dishes. 

2c. Why doesn’t Jola have to wash 
the dishes? 

2cc. Because she’s 
got a dishwasher. 

2d. Does Jola have to wash  
the dishes? 

2dd. No, she doesn’t, 
because she’s got  
a dishwasher. 

3. Johnny wants to 
learn to play  
the trumpet to be in  
the firemen’s band. 

3a. Who wants to learn to play the 
trumpet to be in the firemen’s band? 

3aa. Johnny. 

3b. What does Johnny want to learn? 3bb. To play  
the trumpet. 

3c. What instrument does Johnny 
want to learn to play? 

3cc. The trumpet. 

3d. Why does Johnny want to learn  
to play the trumpet? 

3dd. To be in  
the firemen’s band. 

3e. Does Johnny want to learn to play 
the trumpet? 
 
 

3ee. Yes, he does, 
because he wants  
to be in the firemen’s 
band. 

4. Caroline’s sister is 
angry because 
Caroline stained her 
light jeans with carrot 
juice.  

4a. Whose sister is angry? 4aa. Caroline’s. 

4b. What did Caroline do?  
 

4bb. Stained her 
sister’s light jeans. 

4c. What did Caroline stain her 
sister’s light jeans with?  

4cc. Carrot juice. 

4d. Why is Caroline’s sister angry? 4dd. Because 
Caroline stained her 
light jeans. 
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4e. Is Caroline’s sister angry? 4ee. Yes, she is, 
because Caroline 
stained her light 
jeans with carrot 
juice. 

5. Biofuels may 
become more popular 
because crude oil is 
more and more 
expensive. 
 
 
 

5a. What may become more popular 
because crude oil is more and more 
expensive? 

5aa. Biofuels. 

5b. What may happen with biofuels? 5bb. They may 
become more 
popular. 

5c. Why may biofuels become more 
popular? 
 

5cc. Because crude 
oil is more and more 
expensive. 

5d. What’s happening with crude oil? 5dd. It is more and 
more expensive. 

5e. May biofuels become more 
popular? 

5ee. Yes, they may 
because crude oil is 
more and more 
expensive. 

6. David has to lower 
the prices of his 
cosmetics if he wants 
to compete with other 
producers. 

6a. Who has to lower the prices of his 
cosmetics? 

6aa. David. 

6b. What does David have to do? 6bb. (To) lower  
the prices of his 
cosmetics. 

6c. Which prices does David have to 
lower? 

6cc. The prices of  
his cosmetics. 

6d. Why does David have to lower  
the prices of his cosmetics? 

6dd. To compete with 
other producers. 

6e. Does David have to lower  
the prices of his cosmetics?  

6ee. Yes, he does, if 
he wants to compete 
with other producers. 

7. The weather 
conditions have been 
difficult lately, that’s 
why farmers haven’t 
been able to harvest. 
 
 
 
 
 

7a. What has been difficult lately? 7aa. The weather 
conditions. 

7b. What have the weather conditions 
been like lately? 

7bb. Difficult. 

7c. When have the weather conditions 
been difficult? 

7cc. Lately. 

7d. Why haven’t farmers been able to 
harvest lately? 

7dd. Because the 
weather conditions 
have been difficult 
lately. 

7e. Have the weather conditions been 
good lately? 

7ee. No, they haven’t 
and that’s why 
farmers haven’t been 
able to harvest.  
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8. Pandas can’t find 
enough bamboo to 
eat because people 
destroy the forests  
in which the animals 
live. 
 
 
 
 
 
 
 
 

8a. Which animals can’t find enough 
bamboo to eat? 

8aa. Pandas. 

8b. What can’t pandas find? 8bb. Enough 
bamboo. 

8c. Why can’t pandas find enough 
bamboo to eat? 

8cc. Because people 
destroy the forests  
in which pandas live. 

8d. What do people destroy? 8dd. The forests  
in which pandas live. 

8e. Can pandas find enough bamboo 
to eat? 

8ee. No, they can’t 
because people 
destroy the forests  
in which the animals 
live. 

9. For a month Eva’s 
friends have been 
trying to persuade her 
to go on holiday 
(vacation) to Croatia 
with them.  
 
 
 
 
 
 
 

9a. Who for a month has been trying 
to persuade Eva to go on holiday 
(vacation) to Croatia with them? 

9aa. Eva’s friends. 

9b. What have Eva’s friends been 
trying to do for a month? 

9bb. To persuade her 
to go on holiday 
(vacation) to Croatia 
with them. 

9c. Who (Whom) have the friends for 
a month been trying to persuade to go 
on holiday (vacation) to Croatia  
with them?  

9cc. Eva. 

9d. Where do Eva’s friends want to go 
on holiday (vacation)? 

9dd. To Croatia. 

9e. How long have Eva’s friends been 
trying to persuade her to go on 
holiday (vacation) to Croatia  
with them?  

9ee. For a month. 

10. Workers were 
digging for  
the foundations of 
(for) a new tower 
block when they 
came across a mass 
grave from  
the First World War.  
 
 
 
 
 
 
 
 
 

10a. Who was digging for  
the foundations of (for) a new tower 
block?  

10aa. Workers. 

10b. What were workers doing when 
they came across a mass grave from 
the First World War?  

10bb. They were 
digging for the 
foundations of (for)  
a new tower block. 

10c. What were the foundations 
workers were digging of (for)? 

10cc. A new tower 
block. 

10d. What did workers come across 
when they were digging for  
the foundations of (for) a new tower 
block? 

10dd. A mass grave. 

10e. From what time was the mass 
grave workers came across? (When 
was the mass grave workers came 
across from?) 

10ee. (From)  
the First World War. 
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11. Our expert says 
that the nuclear 
power station they are 
building now will be 
safe for  
the environment. 
 
 
 
 
 
 
 
 
 
 

11a. Who says that the nuclear power 
station they are building now will be 
safe for the environment? 

11aa. Our expert. 

11b. What does our expert say? 11bb. That the 
nuclear power station 
they are building now 
will be safe for  
the environment. 

11c. What are they building now? 11cc. The nuclear 
power station. 

11d. What will the nuclear power 
station they are building now be like? 

11dd. Safe for  
the environment. 

11e. Whose expert says that  
the nuclear power station they are 
building now will be safe for  
the environment? 

11ee. Ours. 

12. The storks you 
see there are getting 
ready to fly to Africa 
where they will spend 
the winter. 
 
 

12a. What birds are getting ready  
to fly to Africa where they will spend  
the winter? 

12aa. The storks. 

12b. Which storks are getting ready  
to fly to Africa where they will spend  
the winter? 

12bb. The ones you 
see there. 

12c. What are the storks you see 
there doing? 

12cc. They are 
getting ready to fly  
to Africa. 

12d. Where will the storks spend  
the winter? 

12dd. In Africa. 

12e. Are the storks you see there 
getting ready to fly to Africa to spend 
the winter there? 

12ee. Yes, they are. 

13. Mariola went to 
London for a year 
where she worked as 
a waitress. 
 
 
 
 

13a. Who went to London for a year? 13aa. Mariola. 

13b. For how long did Mariola go to 
London? 

13bb. (For) a year. 

13c. What did Mariola do in London?  13cc. She worked as 
a waitress. 

13d. Where did Mariola go for a year? 13dd. (To) London. 

13e. What did Mariola work in London 
as? 

13ee. (As)  
a waitress. 

14. Ben must have 
forgotten that his 
classmates had 
invited him to a party. 
 
 
 
 
 

14a. Who must have forgotten that his 
classmates had invited him to a party? 

14aa. Ben. 

14b. What must Ben have forgotten? 14bb. That his 
classmates had 
invited him to a party. 

14c. Who had invited Ben to a party? 14cc. His 
classmates. 

14d. Where had his classmates 
invited Ben? 

14dd. To a party. 
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14e. What had Ben’s classmates 
done, which he must have forgotten 
about? 

14ee. They had 
invited him to a party. 

15. During the 
seminar the scientists 
will be talking  
about the latest 
achievements in stem 
cell research. 
 
 
 
 
 
 
 
 

15a. Who will be talking about  
the latest achievements in stem cell 
research during the seminar? 

15aa. The scientists. 

15b. What will the scientists be talking 
about during the seminar? 

15bb. About the 
latest achievements 
in stem cell research. 

15c. What research will the scientists 
be talking about during the seminar?  

15cc. Stem cell 
(research). 

15d. When will the scientists be 
talking about the latest achievements 
in stem cell research? 

15dd. During  
the seminar. 

15e. Will the scientists be talking 
about the latest achievements in stem 
cell research during the seminar? 

15ee. Yes, they will. 

16. By five o’clock all 
the candidates for  
the post of the sales 
representative will 
have had their job 
interviews. 
 
 
 
 

16a. Who will have had job interviews 
by five o’clock? 

16aa. All the 
candidates for  
the post of the sales 
representative. 

16b. What post will all the candidates 
have had their job interviews by five 
o’clock? 

16bb. The sales 
representative. 

16c. By what time will all  
the candidates for the post of  
the sales representative have had 
their job interviews? 

16cc. (By) five. 

16d. What interviews will all  
the candidates for the post of  
the sales representative have had by 
five o’clock? 

16dd. Job interviews. 

17. Next year  
the doctors from  
the local clinic will 
have been using their 
known around  
the world method of 
treating cancer for 
fifteen years. 
 
 
 
 
 
 
 
 

17a. Who will have been using their 
known around the world method of 
treating cancer for fifteen years next 
year? 

17aa. The doctors 
from the local clinic. 

17b. When will the doctors from  
the local clinic have been using their 
known around the world method of 
treating cancer for fifteen years? 

17bb. Next year. 
 

17c. How long (For how long) will the 
doctors from the local clinic have been 
using their known around the world 
method of treating cancer next year? 

17cc. Fifteen years. 

17d. What will the doctors from  
the local clinic have been doing for 
fifteen years next year? 

17dd. Using their 
known around  
the world method of 
treating cancer. 



6 
Angielski dla leniwych 2. Elementy zdania. Ćwiczenia. Rozdział 15.3 

Copyright by ADL Publishing Elżbieta Żółtak 2020 

 

 

18. For years 
tuberculosis (TB) had 
been killing people 
before a vaccine 
against that terrible 
disease began to be 
commonly used. 
 
 
 
 
 
 
 

18a. What disease had been killing 
people for years before a vaccine 
against it began to be commonly 
used? 

18aa. Tuberculosis 
(TB). 

18b. What had been happening (going 
on) for years before a vaccine against 
tuberculosis (TB) began to be 
commonly used? 

18bb. Tuberculosis 
(TB) had been killing 
people. 
 

18c. How long had tuberculosis (TB) 
been killing people before a vaccine 
against it began to be commonly 
used? 

18cc. For years. 

18d. What began to be commonly 
used against tuberculosis (TB)? 

18dd. A vaccine. 

19. Mary wonders if 
her cat doesn’t like 
her brother’s rat. 

19a. What does Mary wonder about? 19aa. Whether her 
cat doesn’t like her 
brother’s rat. 

19b. Which animal may Mary’s cat not 
like? 

19bb. Her brother’s 
rat. 

20. Darek claims that 
if he had known that 
there isn’t any gold in 
the chest he wouldn’t 
have crashed it  
with an axe. 

20a. Who claims that if he had known 
that there isn’t any gold in the chest 
he wouldn’t have crashed it  
with an axe? 

20aa. Darek. 

20b. What does Darek claim? 20bb. That if he had 
known that there isn’t 
any gold in the chest 
he wouldn’t have 
crashed it with  
an axe. 

20c. Is there any gold in the chest 
Darek crashed with an axe? 

20cc. No, there isn’t. 

20d. Did Darek know that there isn’t 
any gold in the chest he crashed  
with an axe? 

20dd. He claims that 
he didn’t. 

20e. What, as he claims, Darek 
wouldn’t have done had he known 
that there isn’t any gold in the chest?  

20ee. He wouldn’t 
have crashed it  
with an axe. 

                                                                                                                                                                                                                         


